T4 10/2(8H)FRF0AFE ST

NE AL K4 ouT IN JRR NIT A Fyb
1 JII5% 52 8B 0 41 41 1.2 33.8
2 =8 IRE 44 44 9.6 34.4
3 AR EX 37 37 2.4 34.6
4 'l B 42 42 1.2 34.8
5 ;K & 48 48 13.2 34.8
6 SEER Xk 41 41 6 35
7 Ba &3 41 41 6 35
8 K RfT 47 47 12 35
9 HLH R 40 40 4.8 35.2
10 JIigs 38 46 46 10.8 35.2
11 e BE 45 0 45 9.6 35.4
12 Be R 39 39 3.6 35.4
13 EBR 8- 51 51 15.6 35.4
14 3 B 38 0 38 2.4 35.6
15 Rix # 0 38 38 2.4 35.6
16 B R 38 38 2.4 35.6
17 B 43 43 1.2 35.8
18 - p S E S 43 43 1.2 35.8
19 2 Nl = 37 37 1.2 35.8
20 A BEAEB 37 37 1.2 35.8
21 EH ER 42 42 6 36
22 B3t 8 42 42 6 36
23 EH BrE 42 42 6 36
24 IKEF FER b4 54 18 36
25 ek &= 42 42 6 36
26 R &= 47 47 10.8 36.2
27 RKHE F= 47 47 10.8 36.2
28 Rk 55 47 47 10.8 36.2
29 %H ;A 41 41 4.8 36.2
30 Il RE 47 47 10.8 36.2




1= iva K4 ouT IN 5°0R NIT A Fyk
31 B &3 46 0 46 0.6 36.4
32 INL BB 40 0 40 3.6 36.4
33 =5 5 46 0 46 0.6 36.4
34 EH IX— 46 0 46 9.6 36.4
35 EIITRES 40 0 40 3.6 36.4
36 Ll & F 46 0 46 9.6 36.4
37 & H Ihis 40 40 3.6 36.4
38 WE EE 46 46 9.6 36.4
39 NE FE 45 45 8.4 36.6
40 JIIE whEF 45 45 8.4 36.6
41 I8 HH 39 0 39 2.4 36.6
42 INI FEF] 45 45 8.4 36.6
43 S &g b1 51 144 36.6
44 ]2y N2 45 0 45 8.4 36.6
45 NE &5 44 44 1.2 36.8
46 rE ES b6 b6 19.2 36.8
47 {A FE] 38 38 1.2 36.8
48 INFFR B5E 38 38 1.2 36.8
49 ILEH EfE 0 50 50 13.2 36.8
50 T X2 0 44 44 1.2 36.8
51 FARE BE 0 44 44 1.2 36.8
b2 it & 44 0 44 1.2 36.8
b3 Rk BEEA 50 0 50 13.2 36.8
b4 B BEF 49 0 49 12 37
1) BH FW 43 0 43 6 37
b6 N B F 49 0 49 12 37
57 HE EE 0 49 49 12 37
b8 ik 81 43 0 43 6 37
59 IRER 2R 0 48 48 10.8 37.2
60 S B— 0 42 42 4.8 37.2
61 =H B 0 54 54 16.8 37.2




1= iva K4 ouT IN 5°0R NIT A Fyk
62 IR Th— 0 42 42 4.8 37.2
63 EH A 42 0 42 4.8 37.2
64 EAO &S 0 48 48 10.8 37.2
65 20 &F 48 0 48 10.8 37.2
66 EiE T 47 47 9.6 37.4
67 A& & 47 47 9.6 37.4
68 X BE 41 41 3.6 37.4
69 WH AEF 53 53 15.6 37.4
70 Kk & 41 0 41 3.6 37.4
71 BE TR 47 0 47 9.6 37.4
12 B &1 47 0 47 9.6 37.4
73 AT &EX 41 0 41 3.6 37.4
14 e KE 41 0 41 3.6 37.4
75 AR Feil 0 41 41 3.6 37.4
76 FH ERA 46 46 8.4 37.6
17 SE1L ANHE 46 46 8.4 37.6
78 Pk — 0 46 46 8.4 37.6
79 R AKX 46 46 8.4 37.6
80 hngk =3 40 40 2.4 37.6
81 =3+ E8I 46 46 8.4 37.6
82 BTH &£F 40 40 2.4 37.6
83 FikE BX 0 40 40 2.4 37.6
84 Kk BF 0 46 46 8.4 37.6
85 NEF 5 52 0 52 14.4 37.6
86 lIH B3 46 46 8.4 37.6
87 B &A 46 46 8.4 37.6
88 IS IEBS 45 45 1.2 37.8
89 5%H B& 39 39 1.2 37.8
90 E5 Kt 51 51 13.2 37.8
91 My # 39 39 1.2 37.8
92 R EA 0 45 45 1.2 37.8




1= iva K4 ouT IN 5°0R NIT A Fyk
93 M RTTER 44 0 44 6 38
94 AR S8 38 38 0 38
95 K B8 0 44 44 6 38
96 )l BEF 56 0 56 18 38
97 Keg E— 50 50 12 38
98 Z N 49 49 10.8 38.2
99 HEEA 43 43 4.8 38.2
100 IS5 BEXF 49 49 10.8 38.2
101 SEH 48 48 0.6 38.4
102 iR FE 42 42 3.6 38.4
103 \IE BUS 0 48 48 0.6 38.4
104 B BRE 48 0 48 9.6 38.4
105 =H 5k 42 42 3.6 38.4
106 NI E= 42 42 3.6 38.4
107 IRER B 48 48 9.6 38.4
108 HA BF 48 48 9.6 38.4
109 %E FsE 42 42 3.6 38.4
110 NF E5E 47 47 8.4 38.6
111 B EX 52 52 13.2 38.8
112 LI HER 52 52 13.2 38.8
113 R BF 46 46 1.2 38.8
114 B4 /NEE 0 52 52 13.2 38.8
115 NG B 52 0 52 13.2 38.8
116 HHE BA 0 40 40 1.2 38.8
117 R /NB-BN 51 0 51 12 39
118 S 0 51 51 12 39
119 N B 0 57 57 18 39
120 WL H B b9 59 20 39
121 F+3¥ BABA 45 0 45 6 39
122 EH RE 0 51 51 12 39
123 2% BE 50 0 50 10.8 39.2




1= iva K4 ouT IN 5°0R NIT A Fyk
124 MHE #HF 56 0 b6 16.8 39.2
125 KK ¥ 0 56 56 16.8 39.2
126 KE FBE 56 56 16.8 39.2
127 = H fnkg 56 56 16.8 39.2
128 B IE 50 50 10.8 39.2
129 FkE RF 44 44 4.8 39.2
130 =5 BC 49 0 49 0.6 39.4
131 S A 0 43 43 3.6 39.4
132 FiE A& 48 0 48 8.4 39.6
133 KA E= 48 0 48 8.4 39.6
134 =H BN 42 0 42 2.4 39.6
135 SEEH B AR 48 0 48 8.4 39.6
136 K& EF 59 0 59 19.2 39.8
137 Pk £F 53 0 53 13.2 39.8
138 & B3 53 0 53 13.2 39.8
139 WA #4 0 47 47 1.2 39.8
140 Rk &= 0 53 53 13.2 39.8
141 AE BB 0 41 41 1.2 39.8
142 ®EE 0 60 60 20 40
143 O ) 0 46 46 6 40
144 AR HE 46 46 6 40
145 EE WS 46 46 6 40
146 &)1l BB 46 46 6 40
147 RIS BisE 0 45 45 4.8 40.2
148 5Ll FIF 0 57 57 16.8 40.2
149 S FERK 0 51 51 10.8 40.2
150 R EE 0 45 45 4.8 40.2
151 Ha &R 51 51 10.8 40.2
152 RR=E 1 50 50 9.6 40.4
153 B+ B 0 50 50 0.6 40.4
154 WE BS 0 44 44 3.6 40.4




1= iva K4 ouT IN 5°0R NIT A Fyk
155 Ki® B— 0 44 44 3.6 40.4
156 BH ThX 55 0 55 144 40.6
157 K EAE 54 54 13.2 40.8
158 2R B b4 54 13.2 40.8
159 BniE#E 54 54 13.2 40.8
160 INFA IEF] 48 48 1.2 40.8
161 K R 54 54 13.2 40.8
162 KA B 0 59 59 18 41

163 Ra mE 61 61 20 41

164 LB HF 46 46 4.8 41.2
165 gk EF 50 50 8.4 41.6
166 BEE 8F b5 55 13.2 41.8
167 Nk 55 60 60 18 42

168 =SH ILUF 54 0 b4 12 42

169 no g4 b4 b4 12 42

170 ZH ZHl 53 53 10.8 42.2
171 R 7T 53 53 10.8 42.2
172 R BEX 58 b8 15.6 42.4
173 SH EhF 0 b8 b8 15.6 42.4
174 oA HE 0 b6 b6 13.2 42.8
175 Sl Sl 0 48 48 4.8 43.2
176 RiI JE 59 59 15.6 43.4
177 )l & 57 57 13.2 43.8
178 BE T 0 64 64 20 44

179 INKE F 0 60 60 15.6 44 4
180 B OE b3 53 8.4 446




